cafe.naver.com/realcom7 74
—

S

2|¥A 02-3424-7811

dTE, B4E, FHEA, GOIES, PCAE o NAVER

>
1 H|3O0lE 78 A-034
LS Rez] _ -
e ojE ® 7|27 TR E (Y6 F7HA) 672—-10-00779
5 (vle1m 7k 7FG A Y13k 2| o 2 zxior (X)X
A5 AAL7HS) e oy \BFOT
_ KSAl 237 U262
LT S T
A9 20239 19199 Hod  [dEAR Ry e
Al AzZzEY9Q
F2
ZHaH T 4 2 9 T&= ot | = A
QI F0fi7-13MICH 13700K (R E20|3) (B E) CPU #593,000 1 #593,000
1. 2PC 7 = 14 0[5t 222 A/SE A3t
0 14 0|0 WASH. L2[H|= HEH © DAL X DEEPCOOL AK620 (BLACK) CPUEH #85,000 1 #85,000
2 H=de YHEFLCH
[MSI] PRO B660M-A WIFI DDR5 M/B #230,000 1 #230,000
2. A/SE DM EHES JE 2 Lt
N £ Xt DDR5-4800 (32GB) RAM #128,000 2 #256,000
3. 1ol At80|%C 2 QI Hio| A 24 R S/w
=LA, 221 S0 ST A/SE SN TSR RTYX 3060 TT AEZ 2X OC VI D6
A A/S 7IE0 QB0 SAEE |70 E B VGA #586,000 | 1 #586,000
o 8GB LHR
SR ELICt
/ 0]
4. HDDO|| X{& &l DATAE EZE|X| Y&LCL 23t
DATAL BHAF BACKUPS =2 A|7| HFZLICH A PMIAL M.2 NVMe #3844 (1TB) SSD #110,000 1 #110,000
5. DHHA Y s/W EHE QT StAE He M HDD #0
H 20| HEELUCH
DAVEN DO MESH O3 ¥ (22) CASE #39,000 1 #39,000
6. TUXHE FE S/WE AHE & 0|0, 2¥X o2 _
=g 5w 7t BHEIR 282 golsin, ojzojat | IOIFESS Classic I SHMTAT700W 80PLUS [ o | oo 00 | 78,000
£ 2010 ALgSHE AIZEL0| RE BY 21 s/W BRONZE 230V EU : :
of Tiet OjE Bt FLOI2LE Q/HA Urlel Mele HolA=ay w0
TS 20017 USS HolE
=Y 9 Mg S| #60,000 1 #60,000
=S Meorst (1] 4XA) 2E2(09) w0
%O
%2,037,000 1
"B O EE SU| IS N REE R Y 2R LA S 2,037 000 VAT E
2 S22 dA W=20| otL|2} iy AjMof & el
A Gl 7to| A Fn7t ot FE 7HH0l 3 = =0 = C A2
2 O3 AYLICH WA A o2 BOjE S Zo[L Tt 23 T& CHot =2l
etdsta 70§ St LT Thermalright LGA17XX-BCF M@l (BLACK) cPUEEFA | w10,000 1 #10,000
café.naver.com/realcom7  U|O|H{ 7} 22 sV EIITES %O 1 W0
o o
1. 7HH 7t S siFAOF RIAX| RO
7t &L, #0
2. TRRIE HAFAM A, #0
Ao =2 X A2EE XH w0
4ol O|HIEE ZldgL|CE W0
X &IIAZE Ao SEEA =HEO0| =2L w0
CHES|EM Q! w0
SZIIE ZH| MEHALS #10,000 VATHE
I AN T 2 FALSE oA 2,047,000 VATE
FlieZdAe SH FALSE HILM| #204,700
M =-"3 AN | oM X AFAFT VATES
7t =™M2 #1,700
5 AN gt w0
X 12ol #2,250,000 VATZES
X M A MA HEAZL
et d (o 2F: X[ ETh

110-482-539938

k=

=

1o




